Aggregate demand and aggregate supply and their interaction
· Define aggregate demand, describe its components and explain what determines each of them.
Aggregate demand (AD) is the total demand for goods and services produced in an economy at any given price level and in any given time period.
Its components are:
1. [C] Consumer Expenditure (Consumption), which is spending by households on good and services.
2. [I] Investment, which is spending by firms on goods and services.
3. [G] Government Spending, which is spending by the central and local government on goods and services. Does not include transfer payments, like housing benefits, as these are reflected on consumer expenditure.
4. [X-M] Net Exports, which is the value of [X] exports minus the value of [M] imports.

a. Influences on Consumer Expenditure:
i) Level of real disposable income. The more money people earn, the more they are likely to spend and vice versa. It is noteworthy though that the Average Propensity to Consume (APC) falls as income rises, since people earning a lot can have both a high material living standard and be able to save a high proportion of their income.
ii) Wealth (value of household’s assets, such as property, savings account etc). As wealth rises, people feel richer and are likely to consume more. If wealth declines, people feel poorer and start to save/reduce consumption.
iii) Confidence and Expectations. When households feel optimistic about the future, perhaps because of good job prospects or wages, they feel safe and are likely to spend more. If, however, they are concerned about the future, they are likely to start saving and reduce consumption. 
iv) Rate of interest rates. If interest rates are low, households tend to borrow and spend more, usually to buy expensive items such as cars. If interest rates are high, they will instead start saving and reduce consumption.

b. Influences on Investment:
i) Changes in real disposable incomes. If consumers’ real disposable income increases, so will demand for goods and services. Firms may, for this reason, be encouraged to invest in order to meet demand. However, this may not be the case, as firms may not be convinced about the duration of the new demand, or their already existing capital is enough to satisfy the new demand.
ii) Expectations. Firms are much more likely to invest if they feel optimistic about future economic prospects. 
iii) Rate of Interest rates. If interest rates are low, firms are more likely to borrow money and invest and vice versa. However, most investment is financed out of retained profit, which is specifically allocated for this purpose out of total profits.
iv) Capacity Utilisation. If firms currently operate at full capacity, they are more likely to invest in order to expand their output. Conversely, if they have considerable spare capacity, they may be able to increase output without having to invest.

c. Influences on Government Spending:
i) The government’s view on the extent of market failure and its ability to correct it. In countries with higher state intervention, government spending usually forms a higher percentage of the Aggregate Demand than in those countries where the free market forces play a greater role.
ii) The Level of economic activity in the economy. If there is, for example, high unemployment, a government may raise its spending to increase aggregate demand and the output of the economy. In contrast, if there is, for example, a high inflation, a government will likely reduce its spending.
iii) An attempt to please the electorate. Voters can put pressure on the government to increase spending on eg. healthcare and education. A government may increase its spending before a general election in an attempt to win political support.
iv) Threats that compromise national stability and peace. A government may increase its spending in order to prepare and be secure against threats such as war, terrorist attacks and rising crime.

d. Influences on Net Exports:
i) Real disposable income abroad.  If disposable income abroad rises, demand for goods and services will increase as well, leading to more exports being sold (net exports will rise).
ii) Real disposable income at home. In contrast, a rise in income at home may result in a fall in exports. This is because firms may divert some products from the export market to the home market in order to meet domestic demand.
iii) The exchange rate. If the home currency gets stronger, exports will be more expensive abroad and so net exports will fall. In contrast, if the home currency gets weaker, exports will be cheaper abroad and so net exports will increase.
iv) Government restrictions on free trade. A country’s net exports may rise if other countries’ governments remove or limit trade restrictions. 




· Recognise that the aggregate demand and the price level are related.

The Aggregate Demand and the Price Level are inversely related - a rise in the price level will cause a decrease in Aggregate Demand. 

Reasons which explain why the AD curve is downward sloping are:
i) The wealth effect. A fall in the price level increases the amount of goods and services that wealth (in the form of savings or other financial assets) can buy, and so leads to an extension of the AD curve. Conversely, a rise in the price level reduces the purchasing power of wealth and so causes the AD to contract.
ii) The rate of interest effect. If the price levels in the economy increase, nominal interest rates tend to increase as well. This will therefore reduce demand for goods which are sensitive to interest rates such as TVs, cars or houses (which are usually bought on credit or with a loan).
iii) The international trade effect. A rise in the price level (assuming no change in foreign prices and exchange rates) will make a country’s products less internationally competitive. This would make households and firms to buy more from foreign producers and less from domestic producers. As a result, exports would fall and the AD would contract.

Therefore, the AD is downward sloping because a rise in the price level would reduce monetary wealth, raise the interest rate and reduce a country’s international competitiveness. 




· Explain why the aggregate demand curve may shift.

While a change in the price level causes a movement along the AD curve, a change in any other influence on AD (real disposable income, consumer confidence, wealth etc) will cause a shift of the AD curve.

The AD curve may shift, for example, due to:
i) Confidence and Expectations. If households and firms become more optimistic about future economic prospects, consumer and investment expenditure will likely rise, thereby shifting the AD curve to the right. Conversely, if they become concerned about future economic prospects, consumer and investment expenditure will likely decrease, thereby shifting the AD curve to the left.
ii) Income taxes. A cut in the income tax would raise real disposable income and so would probably increase consumption and investment, shifting the AD curve to the right [and vice versa].
iii) Population size. A rise in population will likely stimulate an increase in investment and government spending, thereby shifting the AD curve to the right [and vice versa].
iv) Exchange rate. A fall in the exchange rate would likely increase net exports (as goods and services will now be cheaper abroad), thereby causing the AD curve to shift to the rights [and vice versa].




· Define aggregate supply and explain why the aggregate supply curve may shift.

Aggregate Supply (AS) is the total output of goods and services that producers in an economy are willing and able to supply at different price levels and in a given time period.

In the short run, the AS curve may shift mainly due to:
i) Changes in the costs of production. If the economy’s costs of production fall, both the cost of raw material costs (oil, metal, wood etc.) and wages will fall as well, shifting the AS curve to the right [and vice versa].


In the longer run, the AS curve may shift due to:
i) Changes in the quantity of resources.  
a. If the quantity of labour rises, for example, through net immigration of people of working age, a higher proportion of women entering the labour force or a rise in the retirement age, the AS will increase (therefore shift to the right).
b. The purchase of extra capital goods, referred to as net investment, increases the quantity of capital goods and will, therefore, shift the AS curve to the right.
ii) Changes in the quality of resources.
a. Improvements in education and training will improve the skills of the labour and will raise productivity (output or production of a good or service per worker per unit of factor of production in a given time period) and will, therefore, shift the AS curve to the right.
b. Advances in technology will improve the quality of investment and raise productivity, thereby shifting the AS curve to the right.




· Define what is meant by equilibrium in the macro-economy, explain how it is determined and why it may change.

The Macroeconomic equilibrium is a situation where aggregate demand equals aggregate supply and real GDP is not changing.

The economy will always pull forward to a macroeconomic equilibrium:
i) If aggregate demand, for example, was higher than aggregate supply, there would be a shortage of goods and services and firms would find their stocks declining rapidly. This, in turn, would encourage firms to extend their output in order to meet the excessive demand, and so the economy would likely move to an equilibrium point, where AD would equal AS. The surplus AD may also push the prices up, depending on the level of capacity.
ii) Likewise, if aggregate supply exceeds aggregate demand, the existence of unsold goods and services would cause aggregate supply to contract, thereby moving the economy towards the equilibrium point, where AS equals AD. The price may mall but again this would depend on the level of capacity.

Anything that may cause aggregate demand and aggregate supply conditions to change will move the economy to a new macroeconomic equilibrium.




· Understand what is meant by circular flow of income.

The circular flow of income is an economic model depicting how money flows through the economy. In other words, it shows the movement of spending and income throughout the economy.

In the simplest version, the economy is modeled as consisting only of households and firms. Money flows to workers in the form of wages, and then money flows back to firms in exchange for products.

[image: ]

· Show a general awareness of the multiplier effect and the concepts of leakages and injections.
a. In practice, not all income that people earn is spent. Income that is not spent on domestic output is said to leak out of the circular flow. 
Leakages are withdrawals of possible spending from the circular flow of income and reduce AD. These are:
i) Taxes (T)
ii) Saving (S)
iii) Imports (M). 

There are also additional forms of spending that do not arise from the circular flow, called injections. 
Injections are additions of extra spending into the circular flow of income and increase AD. These are:
i) Government Spending (G)
ii) Investment (I)
iii) Exports (X)

When the value of injections equals the value of leakages, output will not be changing and there will be macroeconomic equilibrium.

b. The multiplier effect is a process by which any change in a component of AD results in a greater change in real GDP. It is, in other words, a concept that describes how an injection into an economy, such as an increase in government spending, creates a ripple effect which increases employment and the output of goods and services in the economy.
The formula to calculate the multiplier is: [image: ]
MPC = Marginal Propensity to Consume.
Therefore, if the government wanted to increase output by $20b and the MPC was 0.8, the multiplier would be 5, so the government would need to increase its spending by $4b [5x($4b)]= $20b.


· Discuss how changes in aggregate demand and aggregate supply may affect output, unemployment and inflation.
a. Changes in Aggregate Demand.
These depend on:
i) The initial level of economic activity.
ii) The size of the multiplier.
iii) The size of the initial change.

i) If the economy is initially operating with considerable spare capacity, an increase in AD will:
i) Raise the output of the economy. The increasing demand will encourage firms to produce more goods and services to meet the new, increased, demand.
ii) Reduce unemployment. Labour is a derived demand (=where demand for a factor of production or intermediate good occurs as a result of the demand for another intermediate or final good). Thus, if output increases, there will be a greater demand for goods and services, thereby leading to an increase in labour (which is required to produce those goods and services).
iii) Leave the price level unchanged. Since the economy was operating with spare capacity, no pressure was put on the existing factors of productions and, as such, the price level did not change.





ii) If the economy moves from a position of significant spare capacity to one where there are shortages of resources OR moves from a position where shortages are already being experienced to one where there are even greater shortages, an increase in AD will:
i) Raise the output of the economy. (Same reason as above.)
ii) Reduce unemployment. (Same reason as above).
iii) Raise the price level. Since resources have now become scarcer, more pressure is being put on the existing factors of production. Thus, Land, for example, in the form of raw materials or any piece of land itself, will now be more expensive.

iii) If the economy is already operating at the full employment level, with no spare capacity, an increase in the AD will:
i) Leave the output of the economy unchanged. Since the economy is already working at full capacity, there is scope for the output to be increased.
ii) Leave employment unchanged. Since the economy is already working at full employment, employment cannot be increased.
iii) Raise the price level. Since the economy is operating at maximum capacity, an increase in the AD will be purely inflationary.



b. Changes in Aggregate Supply.
These depend on:
i) The initial level of economic activity.
ii) The size of the initial change.

If the economy is initially operating at a low level of output with a high level of unemployed resources, an increase in AD will:
i) Leave the output of the economy unchanged.
ii) Leave unemployment unchanged.
iii) Leave the price level unchanged.
In this case, the reason that an increase in AS has no impact on the economy is that it will increase potential output and not actual output, thereby leaving the economy unchanged.

If the economy is initially operating at, or close to, full capacity, an increase in AS will:
i) Raise the output of the economy. Since the AD curve will extent as well, demand for goods and services will increase, thereby encouraging firms to increase their output to meet the new, increased, demand. 
ii) Reduce unemployment. Since output increases, more labour will be required (=derived demand).
iii) Reduce the price level. The reason for this is that there is less competition for the factors of productions, so the 



c. Changes in both Aggregate Demand and Aggregate Supply.
Over time, in most economics, both AD and AS increase. In most years, both consumption and investment increase and the AS rises mainly due to advances in technology and improved education. 

If increases in AS can match increases in AD, the economy can enjoy higher output without inflationary pressures.

If, however, AD grows more rapidly than the growth in productive capacity, overheating (the growth in AD outstripping the growth in AS, resulting in inflation) will occur.

d. Output Gap.
The output gap is the difference between an economy’s actual and potential real GDP and exists when an economy is not producing at full capacity. 
A negative output gap occurs when the economy’s actual output is below its potential output. 
A positive output gap arises when an economy’s actual output is above that of its potential output.


Government economic policy objectives and indicators of national economic performance
· Define economic growth, unemployment, inflation, the balance of payments, income redistribution and economic stability.
a. In the short term, Economic Growth is an increase in real GDP, while in the long term, it is an increase in productive capacity (the maximum output that an economy can produce. 
b. Unemployment is a situation where people are out of work even though they are willing and able to work.
c. Inflation is a sustained rise in the price level.
d. The Balance of Payments is a record of money flows coming in and going out of a country.
e. Income Redistribution is the transfer of money from the rich households to the poor households through taxing the rich and providing state benefits to the poor. 
f. Economic Stability is a situation where significant fluctuations in output, employment and inflation are prevented in order to promote sustainable economic growth.

	
· Show an awareness of trends in economic growth, unemployment, inflation and the current account of the balance of payments.
a. Between 1992 and 2007, the UK experienced the longest period of economic growth which has been relatively stable and predicted to continue.

b. The economic growth was accompanied by low unemployment, due to the more flexible labour market which has made firms more willing to recruit new workers when demand is increasing.

c. Inflation has also been low and steady due to the reduction in inflationary expecting resulting from the success of the government’s monetary policy, a high value of the pound and increased global competition putting pressure on firms to keep their costs and prices low. Moreover, the improved quality in technology and quantity in labour have helped increase AS in line with increases in AD.

d. The UK has been experiencing a current account deficit, mostly due to a deficit in trade in goods. However, trade in services, specifically finance, business and education, has been going well and expected to continue so.
 
Regardless, the UK does face a number of challenges and improvements in transport infrastructure, the economic activity, spending on research and development and innovation would increase its economic performance.




· Understand the objectives of government economic policy in terms of economic growth, employment/unemployment, inflation, balance of payments, economic stability and income distribution.

a. Governments strive to achieve economic growth due the benefits it brings, such as increasing material living standards. They also stress the importance of a stable and sustainable economic growth, in order to avoid harmful fluctuations which may undermine national efforts towards better economic prospects. A sustainable economic growth is the economic growth that can continue over time and does not endanger future generations’ ability to expand productive capacity. The first type is achieved when increases in AS can match AD (actual growth matching trend growth), which should avoid the costs of both a negative (unemployment) and positive (inflation) output gap, while the second is achieved when government do not deplete non-renewable resources and/or damage the environment.

b. Another government objective is to ensure full employment, meaning that all those who are willing and able to work can find employment, although this is practically impossible (ie people seeking new/better jobs). They also actively encourage more people of working age to enter the labour force, as a higher proportion of economically active people should raise the productive capacity of the economy and reduce the costs associated with state benefits.

c. A third macroeconomic objective is a low and stable inflation, which can also be referred as price stability. This does not, however, mean a zero inflation rate with the price level remaining unchanged. A low level of inflation can actually bring certain advantages, such as enable firms to reduce their costs by not raising wages in line with inflation rather than making some worker redundant. The UK has set the Bank of England the target of achieving a 2 per cent inflation rate.

d.  Although in the past governments placed considerable emphasis on the balance of payments, they may not be concerned nowadays -in the short term- if the deficit is offset by a net inflow of direct portfolio investment or is likely to be self-correcting (if, for example, a deficit arises from the import of raw materials which will be converted into finished products and a portion of which will then be exported). In the longer term, however, governments are still likely to want an increase in international competitiveness of its producers, in order to keep AD and output high in the economy.

e. Economic stability has become a significant objective, as governments want to avoid major significant fluctuations in the economy. The reason is that an economy experiencing unstable increases and falls in aggregate demand is likely to suffer from period of inflation and unemployment and will underperform in terms of economic growth.

f. At any particular time, a government may seek to redistribute income, in order to ensure that everyone has access to basic necessities and/or correct an unfair distribution of income. In this pursue, however, it will try not to damage incentives; it will not want to tax workers and firms too much that work and enterprise are discouraged. In the same way, it will not want to make state benefits so generous or easy to obtain that living off benefits is more attractive and finding employment.




· Define GDP and real GDP.

a. GDP is the total output of goods and services produced in a country.
b. Real GDP is a country’s output measured in constant prices and so adjusted for inflation.




· Explain how economic growth, unemployment and inflation are measured in the UK.

a. Economic Growth is conventionally measured by the annual percentage change in real GDP.

Real GDP is can be calculated by totaling up the output, income OR expenditure of a country and economic growth can be calculated by changes in any of these. 

In any of these three cases, however, care needs to be taken;
i. With the output method, it is important to avoid double counting, that is, counting the same output twice. For example, raw materials and finished products using these materials must not be counted twice.
ii. With the income method, only income that is earned in exchange for goods and services is included. Transfer payments (payments not in return for any good or service), such as job seeker’s allowance, are not included.
iii. With the expenditure method, it is important to include exports (which are made by producers in the country and flow money in the economy) and exclude imports (which are made by producers in the respective countries and flow money out of the economy).


b. The unemployment rate is the percentage of the labour force (people willing and able to work) who are out of work. 
It can be calculated by: [image: ]

In the UK, there are two main measures used;
i. The Labour Force Survey (LFS), which is the government’s preferred measure, is a survey of 60.000 households that collects information on the labour force, including type of employment, earnings and educational qualifications, as well as unemployment. It is conducted by the Office for National Statistics in accordance with the International Labour Organation’ (ILO) definition of unemployment, and is an average of the latest three months.
ii. The Claimant Count, which is a monthly count of those receiving unemployment-related benefits. Claimants ‘must declare that they are out of work, capable of, available for and actively seeking work in the week in which their claim is made.


c. The inflation rate can be measured by the Consumer Prices Index (CPI).
i. The Consumer Prices Index (CPI) expresses the current prices of a basket of goods and services in terms of the prices during the same period in a previous year, to show the effect of inflation on purchasing power.

The CPI can be measured by:
i. Defining the fixed basket of goods and services (=which items are included).
ii. Finding the prices for every item in the fixed basket.
iii. Calculating the cost of the fixed basket of goods and services for each period (=quantity of goods/services x its quantity).
iii. Choosing a base year and computing the index (=price of goods and services in comparison year divided by price of goods and services in base year. The result in then multiplied by 100).





· Outline the structure of the current account of the balance of payments accounts of the UK economy.

The balance of payments is a record of a country’s transactions in terms of money flows in and out of the economy.

Its components are:
1. The Current Account
2. The Capital and Financial Account
3. Net Errors and Omissions.

1. The Current Account is made up from:
i. Trade in goods, which records the earnings from exporting and expenditure on importing tangible (visible) goods, such as cars, food and chemicals. The UK has a deficit in trade in goods, meaning its expenditure on buying goods exceeds its revenue from selling goods.
ii. Trade in services, which likewise records earnings from exporting and expenditure on importing intangible (invisible) services, such as financial and computer information services. The UK has a surplus in the trade in services, meaning it earns more than it spends for services.
iii. Income, which records revenue earned by UK citizens who own assets abroad. The UK has a surplus on income, meaning that its residents earn more in terms of profits, interests and dividends than foreigners do.
iv. Transfers, which record the money transferred between governments or individuals from home to abroad (and vice versa), which are not, however, in return for a good or service.

2. The Capital and Financial Account is made up from:
i. Direct investment, like, for example, the purchase and setting up of a factory.
ii. Portfolio investment, like, for example, the purchase of shares and bank loans.

3. Net Errors and Omissions ensures that the balance of payments does balance. Since the information required is based on a vast number of transactions, it is not surprising that mistakes are made.
· Explain the causes of economic growth, unemployment, inflation, a deficit or surplus on the current account of the balance of payments.

a. Causes of Economic Growth.
In the short run, an economy with spare capacity can experience economic growth as a result of an increase in AD. Such an increase may be, for example, due to a fall in exchange rates, which will lead to an increase in net exports and result in an export-led growth. Another reason would be a rise in consumer confidence; people feel more optimistic about future prospects and so consume more, causing the AD to rise.

In the long run, in order for an economy to experience economic growth, its productive capacity must rise, meaning that increases in AS can match increases in AD. Thereby, the essential causes of a long-run economic growth are increases the quantity and quality of resources (eg. more people of working age entering the labour market and improvements in technology and education).

b. Causes of Unemployment.
There are three types of unemployment.
i. Cyclical unemployment, which is unemployment arising from a lack of AD. This type of unemployment occurs when the economy operates below full capacity. In a period of recession, for example, AD will fall, leading to a decline in output and to a negative output gap. This means that firms are producing fewer goods and services and so fewer workers are needed.
ii. Structural Unemployment, which is unemployment arising from a decline of certain industries and occupations due to demand and supply. It is made up from:
1. Occupational Immobilities: There might be available vacancies, but employers may not want to employ those who apply because they lack the right skills.
2. Geographical Immobilities: There may be job vacancies, but the unemployed live in another part of the country.
3. Technological Advancements: Employees may lose their job due to being unable to adapt to changes in technology.
4. International Unemployment: Occurs when firms decide to carry out some of their work abroad, thereby making domestic workers redundant, or when people decide to buy imports rather than domestic products.
iii. Frictional Unemployment, which is a short-term unemployment caused by the time people spent in-between job. It is made up from:
1.  Search Unemployment: People may be offered a job but decide to reject it in order to look for something more suitable to them.
2. Seasonal Unemployment: Some people’s labour is only demanded in certain periods (seasons), such as ice-cream sellers and farmers.
3. Casual Unemployment: People may be in and out of work in-between irregular periods of time, like actors and builders. 

c. Causes of inflation.
There are two categories that may cause inflation.
i. Demand-pull inflation, which arises when AD increases at a faster rate than AS. When the economy is working at or near its productive capacity, any increase in AD will increase the price level as well. This is because as firms reach full capacity, they respond by putting up prices, leading to inflation. Also, near full employment, workers can get higher wages which increases their spending power.
ii. Cost-push Inflation, which arises when increases in the costs of production increase the price level. This is because the higher costs of production decrease the AS in the economy. But now, because there are fewer goods being produced (supply weakens) and demand for these goods remains consistent, the price of finished goods increases (inflation).

d. Causes of a deficit or surplus on the current account of the balance of payments.
1. Deficit
i. Changes in income at home and abroad. A rise in incomes at home will likely contribute to a deficit, as people will be able to buy more products, some of will be imports. Likewise, a fall in incomes abroad will also contribute to a deficit, as foreign residents will be able to buy fewer goods and services.
ii. A rise in the exchange rate. A rise in the exchange rate may also result in a deficit, as it will raise export prices, making it more expensive for foreign residents to buy domestic products, and lower import prices, making it cheaper for domestic citizens to buy products from abroad.
iii. Structural problems. This is a long-term problem and more serious than the previous two. If firms change their motives, producing poor quality products or not picking up on changes in demand, the deficit is likely to persist.

2. Surplus
i. Strong economy. A country is likely to have a surplus if its products are of good quality, are produced at a low cost and reflect what households and firms (both at home and abroad) want to buy.
ii. A fall in the exchange rate. A reduction in the value of the currency lowers export prices (people abroad can buy more) and raises import prices (people at home can buy less).
iii. Weak economy/recession. If a country is in a recession, the inhabitants are likely to reduce their spending altogether, meaning that they buy fewer products. This, in turn, may cause the firms, who find it difficult to sell at home, to compete more vigorously in the export markets.





· Discuss the consequences of unemployment, inflation, a deficit or surplus on the current account of the balance of payments.

a. Unemployment.

1. Consequences of Unemployment.
i. Loss of output. One of the most significant costs of unemployment is the loss of output. Having people who are willing and able to work without jobs is a waste of resources.  If these people were in work, the country would produce more out and the population would enjoy more goods and services (relate: an economy producing inside its PPC).
ii. Lost tax revenue. Unemployment results in tax revenue being lower than possible. If more people were in work, incomes, spending and possibly profits would be higher as well, meaning the government would earn more tax revenue. This revenue could then be spend on education, healthcare and transport and would, ultimately, improve people’s lives and the country’s productive capacity. Moreover, if a country wants to maintain a certain level of spending, it would either have to increase taxes, reducing consumers’ spending, or borrow, which may push up the interest rate and again reduce consumers’ purchasing power. 
iii. Cost of unemployment benefits. If unemployment rises, the Government will have to spend more on unemployment related benefits. This may mean that it has to reduce its spending on other sectors, such as education, or will have to raise its borrowing or tax rates [this involves an opportunity cost: the money spent on benefits could have been instead used to fund education and healthcare or lower tax rates]. 
iv. Costs to the unemployed themselves and their children. The unemployed may suffer from poor health, mental instability and even family break-ups as a result of a loss in income, since most earned more before than they currently receive in benefits. This loss of income may be significantly worse if those who lost their jobs are not entitled to benefits at all. Moreover, children with unemployed parents can also suffer from worse health and perform less well a school. This may be because they have fewer educational tools and resources at home and, in extreme cases, they do not even have their own bedroom to concentrate and study in. 
v. Costs to other economies. 
a. If a country’s trading partner faces significant unemployment, demand for its own exports is likely to fall (look at causes of Deficit – loss of income means fewer products are being bought), thereby reducing its own AD and resulting in unemployment to itself. 
b. Moreover, country A may experience immigration from other countries with high and rising unemployment. While this can be beneficial if country A has a shortage of labour, it may also place a burden on its housing stocks.

2. Benefits of Unemployment.
Although the consequences of unemployment outweigh the benefits by far, there are a few good aspects.
i. Search for a more suitable job. For a few people, unemployment may give them time to search for a more rewarding or satisfying job. 
ii. Flexibility for firms. The existence of unemployment makes it easier for firms, wishing to expand, to recruit workers.
iii. Discourage industrial action. The existence of a relatively high unemployment may discourage workers from seeking wage rises and dissuade them from taking industrial action, since they would not want to compromise their job.

3. Significance of Unemployment.
How significant unemployment is depends on:
i. How much unemployment there is; 4% is insignificant, since there will always be people who will be out of job (ie to look for a better one), whereas 25% would be devastating.
ii. How long on average people are unemployed; For example, 12% of unemployment for 2 months is better than 6% for two years. 
iii. The benefits provided to those who are unemployed. 
iv. The type of unemployment; Cyclical and Structural are worse than frictional.
v. The distribution of unemployment. If half of the country, for example, were unemployed, it would be more significant than the same number of people being unemployed all over the country.


b. Inflation.

1. Consequences of Inflation.
i. Fall in the value of money. With the price level rising, the amount of goods and services that a pound can buy falls, thereby reducing the purchasing power of consumer. [This can be off-set if their disposable income rises by more, or the same amount as, inflation]
ii. Menu Costs. This refers to the costs of changing prices due to inflation. During times of high inflation, firms need to alter their prices in, for instance, catalogues, newspaper advertisements and websites. However, this can involve considerable time and effort and can, thereby, increase labour costs.
iii. Fiscal Drag. This refers to people’s income being dragged into higher tax bands because tax brackets are not being adjusted in line with inflation. As a result, taxpayers will pay a higher proportion of their income in tax and will, as such, experience a fall in their disposable income and purchasing power. The government will receive more tax revenue.
iv. Uncertainty. One of the most serious disadvantages of inflation, especially if it is unexpected, is the uncertainty is creates. If firms are uncertain about what their costs will be and what prices they will receive from selling their products, they may postpone investments. Moreover, inflation makes it difficult to plan ahead and decide how much to save and where to keep their savings.

2. Benefits of Inflation.
i. Increased output. If inflation is low, stable and is demand-pull inflation, the higher AD and steady rise in the price level may encourage firms to increase output.
ii. Worker Satisfaction. Workers like rises in their pay, even if these are matched by higher prices, with the real pay remaining the same. Psychologically, this makes people feel that their work is appreciated by the employers.

3. Significance of Inflation.
How significant inflation is depends on:
i. The rate of inflation. A low rate of inflation, especially if it is stable, is unlikely to cause serious problems to an economy. In fact, if it is also demand-pull inflation, it may bring some benefits. Conversely, a high rate of inflation is likely to cause significant problems to an economy, such as serious menu costs and uncertainty.
ii. Whether inflation is fluctuating. A fluctuating inflation can be destabilizing as it distorts the prices (inflationary noise) and makes it difficult for governments, firms and households to plan ahead.
iii. Whether it was correctly anticipated. Unanticipated inflation, a situation where people are surprised by the inflation rate, has more harmful effects than anticipated inflation. This is because it can cause uncertainty and can result in a random redistribution of income (a situation where those, for example, with weak bargaining skills can be manipulated by others).
ii. The rate of inflation relative to other countries. Even if inflation is correctly anticipated, it can still have serious effects on an economy. For example, if a country has a higher inflation rate that the main countries it trades with, its current account position is likely to deteriorate. 


c. Deficit or surplus on the current account of the balance of payments.

1. Consequences of a deficit.
If a deficit increases, it will reduce AD in the economy. As a result, it will lower the economy’s output, will likely raise unemployment and may put downward pressure on the price level. A rise in the deficit is also likely to lead to a fall in the exchange rate and increase the debt of the country.



2. Consequences of a surplus.
If a surplus rises, the increase in money supply will mean that banks will have more money, which can increase bank lending. It also means that net exports are growing, which will raise AD and will likely will push up the exchange rate.

3. Significance of a current account deficit.
How significant a current account deficit is depends on:
i. The size of the deficit. A deficit that forms a small percentage of real GDP is unlikely to cause serious problems to an economy.
ii. The duration of the deficit. A deficit that lasts for a short period of damage is also unlikely to cause any serious issues to an economy.
iii. The cause of the deficit. A deficit may indicate a growing and healthy economy, or it may indicate an economy with structural problems. The second case is likely to last longer and have more harmful consequences than the first, which may reflect more output being produced.
iv. What is happening in the capital and financial account. A current account deficit may be off-set by a strong performance in the capital and financial account.




· Discuss the costs, benefits and sustainability of economic growth.

a. Costs of Economic Growth.
i. The need to switch from consumer goods to capital goods. If an economy is operating at its productive capacity, meaning that it is using all of its resources, the only way to increase output would be to switch from making consumer goods to making capital goods. In the long run though, the extra capital goods will enable more consumer goods to be made.
ii. Damage to the environment. If economic growth is achieved in a non-sustainable way, ie by the expansion of the heavy industry without controls on pollution, there will be damage to the environment. There is also a risk that economic growth may result in the depletion of non-renewable resources.
iii. Reduction in the quality of people’s life. A growing economy requires some people to adopt new skills and some even to change jobs. Such fast-paced movements and changes, however, may be too stressful to some people and cause persisting problems.

b. Benefits of Economic Growth.
It is widely accepted that the benefits of economic growth outweigh its costs, and that is why it is a key macroeconomic objective.
i. A rise in people’s material standard of living. If real GDP per capita increases, the population can enjoy more goods and services. It should be noted that whether everyone gets to enjoy these goods and services will depend on the distribution of income.
ii. It may reduce poverty without having to redistribute existing income. Higher output raises tax revenue without having to increase tax rates, and some of this can be used to finance schemes to help the poor. Some of it can also be used to improve public services, such as healthcare and education.
iii. It may reduce poverty by increasing employment. Economic growth can help a government achieve its objective of full employment, since more labour will be required to produce the increased output. In this cas, however, AD must increase in line with production, so that the increases output is not accompanied by higher unemployment (if people’s productivity increases by more than AD, firms may be able to produce more with fewer workers).
iv. Increase a country’s status and power in international organisations. Actual economic growth raises a country’s real output and can thereby increase its power in international organisations and negotiations. 

c. Sustainability of Economic Growth.
Sustainable growth is one which does not damage future generations’ ability to increase productive capacity (ie it does not damage the environment or deplete non-renewable resources). Governments now actively engage in meetings at which they seek to reduce climate change, pollution and to promote greater economic stability.






· Outline how exchange rates are determined by the demand and supply of currencies.

Factors that influence the demand for and supply of a currency and so its exchange rate are:
i. International competitiveness of domestic products. If domestic products are internationally competitive, their demand is likely to be high and their supply low: Foreign residents would want to buy the home currency in order to buy domestic products, while people at home will not be selling the domestic currency in order to buy imports. International competitiveness is dependent on labour productivity, investment and relative inflation rates.
ii. Changes in income abroad. If incomes abroad are rising, then foreign residents are likely to buy more UK exports. This will increase demand for the home currency and cause a rise in its value [and vice versa].
iii. Changes in income at home. Rising incomes at home may put downward pressure on the value of the home currency. This is because the supply of the home currency on foreign exchange markets will increase as more of it is being sold to get the foreign currency and purchase more imports.
iv. A rise in interest rates. A rise in domestic interest rates, relative to other countries’ interest rates, will be likely to increase demand for pounds. This is because foreign residents will want to buy the home currency in order to open accounts in domestic financial institutions to benefit from the higher interest rates.
v. Speculation. If speculators believe that the value of the domestic currency will rise in the future, they will demand more now to be able to make a profit. This increase in demand will cause the value to rise.



· Explain how changes in the exchange rate may affect the macro-economy.

a. A reduction in the exchange rate may:
i. Improve the current account position of the balance of payments. This is because, If demand is inelastic, a reduction in the exchange rate is likely to lead to a fall in the price of exports, resulting in a rise in export revenue, while an increase in import prices will reduce expenditure on imports.
ii. Raise AD. A lower exchange rate, by boosting exports and reducing imports (as above), will increase AD (due to the increase in net exports). 
iii. Raise employment and real GDP. If the economy was previously operating at full capacity, an increase in AD will also raise employment and real GDP, since more workers will be required to produce the increased output of goods and services.
iv. However, there is a risk that a lower exchange rate will put upward pressure on inflation. This is because the price of imported raw materials will rise, thereby increasing the costs of production and the price of imported finished products that count in the calculation of a country’s inflation rate.
v. Pressurise firms to keep costs and prices low. Domestic firms facing more expensive imported rival products at home, the prospect of their products being cheaper abroad and higher demand in both markets will be under pressure to keep both their costs and prices at a low level.
b. A rise in the exchange rate may:
i. Increase the current account deficit. This is because exports will become more expensive abroad while imports will become cheaper, meaning that foreign residents will be able buy less and people at home will be able to buy more.
ii. Decrease inflation (be deflationary). 



















The application of macroeconomic policy instruments and the international economy
· Define fiscal, monetary, supply side policies.

a. Fiscal Policy covers the taxation and spending decisions of a government.
b. Monetary Policy covers the decisions by the central bank and/or government on the rate of interest, supply of money and the exchange rate.
c. Supply-side policies are policies designed to increase AS by improving the efficiency of labour and product markets.




· Discuss, using the AD and AS model, the ways in which fiscal, monetary and supply side policies can affect unemployment, inflation, economic growth and the current account position of the balance of payments.

a. Policies to reduce unemployment.

1. Demand-side policies. If the economy is operating below its productive capacity, unemployment may be reduced by increases in AD (through expansionary fiscal and/or monetary policy measures).
	a. Fiscal Policy measures.
		i. Increase government spending.
		ii. Cut tax rates.
Practically, increases in government spending are more effective, as they do not entail the whole amount impacts AD, whereas taxes are subject to saving and imports.
	b. Monetary policy measures.
		i. Increase in money supply.
[bookmark: _GoBack]		ii. Lower interest rates.
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